

1A, D

$$\frac{-b}{ra} = -1 \Rightarrow b = ra$$

$$\begin{aligned} a - br + c = 9 &\Rightarrow -arc = 9 \\ 9a + r^2b + c = 1 &\Rightarrow 10arc + 1 \end{aligned} \quad \left. \begin{aligned} 14a + -1 \Rightarrow arc = -\frac{1}{r} &\Rightarrow br = 1 \Rightarrow c = \frac{1}{r} \\ \Rightarrow y = \frac{-x^r}{r} - x + \frac{1}{r} &\Rightarrow y = \frac{-x^r - rx + 1}{r} \end{aligned} \right. \quad \text{✓}$$

$$\begin{aligned} m^r - am + m + 4 &= 0 \\ \left. \begin{aligned} m^r - am - 1 &> 0 \Rightarrow \frac{-x}{r} - \frac{1}{r} > 0 \\ m &< 0 \\ \frac{c}{a} &> 0 \Rightarrow \frac{m+4}{r} > 0 \Rightarrow m > -4 \end{aligned} \right. \quad \left. \begin{aligned} 9 & \\ -4 & \\ -3 & \\ -2 & \\ -1 & \\ 0 & \\ 1 & \\ 2 & \\ 3 & \\ 4 & \end{aligned} \right. \quad \Rightarrow m \in (-4, -1) \quad \text{✓} \end{aligned}$$

$$S = \frac{1}{r} \Rightarrow \frac{-arc}{a} = \frac{r}{-arc} \Rightarrow m^r - am + r = 9 \Rightarrow \underbrace{m^r - am - 1}_{= 0} = 8 \Rightarrow \frac{-c}{a} = \frac{8}{r} \Rightarrow m = -1 \text{ or } \frac{8}{r} \quad \text{✓}$$

$$a^r - ax + r = 0 \quad \text{✗}$$

$$a^r + 4a - \frac{r}{r} = 0 \quad \text{✗} \quad m = \frac{r}{r} \quad \text{✓}$$

$$S = x_1 + x_r = 1, \quad P = x_1 \cdot x_r = -r \quad \text{✓}$$

1B)

$$\Rightarrow S = x_1 + x_r + \frac{1}{x_1} + \frac{1}{x_r} = (x_1 + x_r)((x_1 + x_r)^r - r x_1 \cdot x_r) + \frac{x_1 \cdot x_r}{x_1 \cdot x_r} = 1 (1 + r) \cdot \frac{1}{r} = \boxed{1 + r}$$

$$\Rightarrow P = (x_1 + \frac{1}{x_1})(x_r + \frac{1}{x_r}) = (x_1 \cdot x_r)^r + x_1^r + x_r^r + \frac{1}{x_1 \cdot x_r}$$

دقت! - ٢٥٪

$$\Rightarrow 0 = x^r - Sx + P = \boxed{x^r - 12, \sqrt{a}x - 1} \quad \text{✓}$$

$$\left(\sqrt[r]{x^r} + \frac{1}{\sqrt[r]{x^r}} + 1 \right) \left(\sqrt[r]{x} - \frac{1}{\sqrt[r]{x}} \right) = \left(\sqrt[r]{x^r} + \frac{1}{\sqrt[r]{x^r}} + 1 \right) \left(\frac{\sqrt[r]{x^r} - 1}{\sqrt[r]{x^r}} \right) = x - \frac{1}{x} \quad \text{✓}$$

$$\Rightarrow \left(\sqrt[r]{x^r} + \frac{1}{\sqrt[r]{x^r}} + 1 \right) \left(\sqrt[r]{x^r} - 1 \right) = \left(x - \frac{1}{x} \right) \sqrt[r]{x^r} \cdot \sqrt[r]{x} \Rightarrow x - \frac{1}{x} = 1 \Rightarrow x - 1 - \frac{1}{x} = 0 \Rightarrow x^2 - rx - 1 = 0$$

$$\Rightarrow S = \frac{-b}{a} = \boxed{r} \quad \text{✓}$$

$$P_s \frac{F}{c} \Rightarrow \omega^2 = \frac{F}{c} \Rightarrow \omega^2 = \frac{F}{m} \Rightarrow \omega = \pm \frac{1}{\sqrt{c}}$$

$$\Rightarrow \left| \frac{1}{\sqrt{c}} - \left(-\frac{1}{\sqrt{c}} \right) \right| = \boxed{\frac{2}{\sqrt{c}}} \quad \text{①} \text{VQ}$$

$$\text{Next} \rightarrow \text{Condition} \left\{ \begin{array}{l} \frac{-\alpha - \omega}{\omega} > 0 \rightarrow \frac{-\frac{1}{\sqrt{c}}}{-\frac{1}{\sqrt{c}} - \omega} > 0 \rightarrow \left(\frac{\omega}{\omega + \frac{1}{\sqrt{c}}} \right) > 0 \\ \omega > 0 \end{array} \right\} \text{②} \text{VQ}$$

$$\left. \begin{array}{l} \frac{+1}{-1} & \left. \begin{array}{l} \frac{-\alpha}{\omega} > 0 \Rightarrow \omega > 1 \\ 1 = \alpha + \omega - 1 \Rightarrow \omega = 1 \end{array} \right. \\ \omega = 1 & \end{array} \right\} \Rightarrow \omega = 1 \quad \text{③} \text{VQ}$$

$$\Rightarrow -1 - \omega b = 1 \Rightarrow b = -2$$

$$\frac{\alpha}{\omega} = \frac{-\alpha}{\omega} + 1 = \frac{1}{\omega} \Rightarrow \omega = 1 \quad \text{④}$$

$$(\alpha + \omega i)(\beta + \omega i) = \alpha\beta + \omega i\alpha + \omega i\beta + \omega^2 i^2 = P_s \frac{5}{4} + \omega i \frac{2}{4} = \frac{5}{4} + \frac{2}{4} \omega i$$

$$\Rightarrow -\omega + \frac{-1}{\omega} + \frac{1}{\omega} = \frac{2}{\omega} \Rightarrow b = -4$$

$$\Rightarrow \left[\frac{ab}{\omega} \right] = \left[\frac{-4}{\omega} \right] = \boxed{-4} \quad \text{⑤} \text{VQ}$$

$$\alpha \rightarrow \text{initial conditions}$$

$$\alpha' \leftarrow \left\{ \begin{array}{l} \alpha' + \omega d - \omega m = 0 \\ \alpha' + (\alpha + \omega m) = 0 \end{array} \right\} \left\{ \begin{array}{l} \alpha' + \omega d = 0 \Rightarrow \alpha = -\omega d \text{ or } \alpha = -\omega d \\ \Rightarrow m = \omega d \end{array} \right.$$

$$\alpha' + \omega m - \omega d \left\{ \begin{array}{l} -1 \\ -\alpha \end{array} \right\}$$

$$\alpha' + \omega m - \omega d = (\alpha + \omega d)(\alpha - \omega d) \left\{ \begin{array}{l} -1 \\ +1 \end{array} \right\}$$

$$\left\{ \begin{array}{l} 1 - (-1) = \boxed{2} \end{array} \right\} \quad \text{⑥} \text{VQ}$$

$$P = \alpha \cancel{\beta} = r \alpha^r \cdot \frac{1}{r} \rightarrow \alpha = \pm \frac{r}{r}$$

4

$$S = \alpha + \cancel{\beta} = r \alpha = \frac{\alpha}{r} \rightarrow \pm \frac{1}{r} = \frac{\alpha}{r} \rightarrow \alpha = \pm 1$$

الإجابة = 14